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It is in your own interest to write legibly and to present your work neatly.
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Question 1
Circle the correct answer from each of the four possible answers:

1.1

1.2

1.3

1.4

1.5

The diagonalsofa .................. are equal
A Rhombus
B  Rectangle

C  Trapezium
D Parallelogram

ABCD is a trapezium with AB || DC and AF L DC.
The area of the trapezium can be calculated by:

A AFxDC A B
B %DC « (AD+BC)
C ACxDB
1
D Z(AB+DC) x AF o =h Y

If the perimeter of a square is 64 cm, its area is:

A 64cm?
B  256cm?
C 32cm?
D 16cm?

Which of the following three lengths will make a right angled triangle?
(i.e is a Pythagorean Triple.)

A 5cm:1lcm:2cm
B 49cm:16cm:9cm
C 2cm:lcm:lcm
D 13cm:12cm:5cm

If one interior angle of a triangle is equal to the sum of the other two interior angles,
then the triangle is:

A Equilateral

B  Obtuse-angled
C Right-angled
D  Acute-angled

(1)

(1)

1)

1)

(1)



Question 2
2.1

2.1.1 Classify quadrilateral ABCD.

2.1.2 Write down the values of a and b. No reasons need to be given.
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2.2. Quadrilateral PQST, is not drawn to scale.
P i Q
O
T S
2.2.1 Classify the quadrilateral. Q)

2.2.2  Fill in all the missing angles. 3)
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Question 3

In the diagram, AE = EB and EF = FC.

A B

3.1 Find the value of x. Give a reason. _ (2)

3.2 Find the value of y. Give reasons. (2)

3.3 Find the values of w. Give reasons. (4)



Question 4
F
4.1 Complete: The sum of the exterior angles of a polygon is ..............
4.2 Write down the size of MED . Give a reason.
4.3 Write down the value of DCH in terms of x. Give a reason.
4.3 Hence find the size of X. Give a reason.

degrees.
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Question 5
A '] B
|
D ! C

5.1 What is the size of AEB. (1)
5.2 If DB is 16 cm and AC is 12 cm, calculate the perimeter of ABCD. No reasons need

to be given. 3)
Question 6
The area of the kite shown is 64 cm?. A (2)

The length of AE is 6 cm and BE is 4 cm.
Find the length of EC, marked x in the diagram.
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Question 7

The following statements are incorrect. Rewrite them so that they are correct. The part you have
to rewrite is underlined.

7.1  Consider the triangles below: AABC = APQR (SAS) (1)
A
P
M T 170
B<—"— C
R
7.2 The four reasons for congruency are: AAcorrespS, SAS, RHS, AAA (1)
7.3 Consider the two similar triangles below. The correct way to name them is as 1)
follows: ABOY ||| AMAN N

Y
Oﬁ A
B

M

7.4 The transformation rule (X ; y) —(Y ; X) is: reflection over the y-axis (1)




Question 8

8.1 Prove that APQO = ASRO.

8.2 Hence show that RV = TQ.
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Question 9
9.1 Are APQR and AABC similar to each other? Show your working. 4)
B
3 2
10cm c 5cm
5cm
A
R 4cm
Q 12,5cm C
9.2
L
In the diagram AKLM | | | AQNM. (4)

Calculate the lengths of the line segments marked x and y
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Question 10
10.1 Consider the diagram below:

o Q¢

S

O
w

N

'.A

b
|
[uY

21
N

N

LS

S

a

B!
10.1.1  Write down the coordinates of point B. Q)
10.1.2  Describe the transformation from AABC to AAB'C' (in words). (1)
10.1.3  Choose the correct statement below (just write down the letter): (1)
A: AABC: AABC'=1:2 B: AABC=AAB'C C: AABC//AABC

10.1.4 If AABC is translated by the rule (X;y) — (x +1; y — 3) give the coordinates of
the image of point C. (1)



10.2

10.2.1

10.2.2

10.2.3

10.2.4

Consider the diagram below:

Choose the correct word:

AABC is an enlargement / reduction of ADEF.

Give the scale factor of the change in dimensions of AABC to ADEF.

Choose the correct statement:

A: AABC is similar to ADEF

B: AABC is congruent to ADEF

C: AABC is neither similar nor congruent to ADEF

Determine the scale factor of the area of AABC to ADEF.
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Question 11

Front gable

10m

The roof of a home is in the shape of a triangular prism.

111 Determine the height (h) of the support beam for the roof correct to 2 decimal
places (2)

11.2 Calculate the area of the whole roof, including the front and back gables. (3)
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Question 12

121

12.2

12.3

12.4

12,5

The results of 30 Grade 9 pupils for a Maths test, are as represented in a stem and leaf
diagram as follows.

Leaf

6
014699
235899
223368
124609
025
18

1
Key: 4/2 =42

)
@
3

© 0 N o [0 |B W N

Determine the range of the test marks.

Calculate the mean.

Determine the median.

If 40% is the pass mark, what percentage of the class failed the test?

Comment on the difficulty of the test. Use statistical reasoning to back-up your
comment.

1)

(2)

1)

1)

()



Question 13

The partially completed tree diagram
represents two dice which have been
thrown at the same time.

Use the diagram to assist you to answer the
questions which follow.

What is the probability of:

13.1  throwing two 3’s? 1)

13.2  obtaining a total of 7? Q)

13.3  the total being greater than 7?7 (1)

13.4  the total being less than 8? Q)
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Bonus Questions

1. Consider a rhombus. If the sizes of any two angles that are not opposite to each other
differ by 40°, what is the size of one of the smaller angles? (2)

The surface area of a cube is 6 cm?. If 100 cubes are put together end-to-end as

shown, what is the surface area of the resulting shape (in cm?)? (2)
3. In the diagram, AD = AF, BE = BF and C = 90°. Determine the size of x.

Show working. (2)

A

F
1 X
D
C A B



